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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. | AT

1 RN BT USIIHH & TR w@-gff @ srazgwant g
1. Self-actualization / 3{TH-fARATT

2. Physiological needs | Tor T STagehdl

3. Belongingness and love needs / fayrT 3R WR & 3a=gehd

4. Esteem needs / G@I EEIIY

Correct Answer :-

« Self-actualization / 3T&-faTawor

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & TR, 3¢ Rigia IR AfRId BT B AT YN FTferd giar 82
1. Ego ideal / 37 3mexl (37 #M3sa)

2. Superego / TRTE (JURZN)

3. 1d / U89 (31331

4. Ego / 38 (31M)

Correct Answer :-

. 1d/ UgdH (3158

3) What is the time in a child’s life between childhood and adulthood known as? / dTcdTdIT

3R TURET & §1 TP T & Siia- 6 B 91 0T gl 82
1. Adolescence / T RIRTIRIT
2. Menarche / m@ﬁ



3. Middle childhood / H& dlcHTdRIT
4. Puberty / BIGE]

Correct Answer :-

« Adolescence / |$Qi|€|agﬂ

4) What is the term given to describe the sudden ‘aha!” moment that sometimes helps us

solve problems? / AT “3{gI!” &mmaﬁrmﬁ%ﬁqﬁﬂmwﬁmw%ﬁﬁ
F-HH g0 T B g B A He HIAT R?

1. Flashbulb / i< e
2. Insight / &lﬁ%@

3. Observation / 3AQIH
4. Deduction / TRRUMY

Correct Answer :-

« Insight/ Glﬁ%fg

5) What is the term given to denote the ability of a test to consistently measure what it is

designed to measure?/Wuﬁ&maﬁ&mﬁ%ﬁamﬁ%mﬁquﬁmw
2, P srg=uar 3 9= & fore 52 fewims frar man 82

1. Norms / AMCS
2. Reliability / fay@=igar
3. Reasoning / GEg

4. Validity / &

Correct Answer :-

« Reliability / fayF=Iaar

6) Benefits of Inclusive Education are: / THTARI ﬁT&IT & A %
1. Develops moral and ethical principles only / Had Afad AR ifaema Rigia fasfid s

2. Increases communication and social skills only / Had JaR 3R IS DI del-l

3. Increases acceptance and appreciation of diversity only / Fad fafaedr ot W 3R U=
del-l

4. All of the above / ITgad T+t



Correct Answer :-

« All of the above / Iudad Tt

7) The urge to provide care and protection to offspring is motive. / Tl &I G@HTA

IR ICHPASIAIE AR
1. Sex /A

2. Maternal motive / ATq STHTROM

3. Achievement / U

4. Affiliation / G

Correct Answer :-

« Maternal motive / HI TR

8) Which of Erikson’s stages of psychosocial development results in the virtue of

%)%pgtence? /W%Wﬁﬁ%ﬁ@ﬂﬁmmm

1. Trust vs. mistrust / TAYTT S99 Sifayry

2. Intimacy vs. isolation / Elﬁ@?n JTH 3{Id

3. Ego integrity vs. despair / 3§ 3RASdl CEIERENE|
4. Industry vs. inferiority / TRy S99 g

Correct Answer :-

+ Industry vs. inferiority / URSH I Bl

9) Which of the following strategies cannot be used by a teacher for a mentally retarded

learner? / T8I gRT AR U & He Rrendf @ ?) & fore Fufeafag & 9 fog ord-
fofa &1 w8t favan o wwar 32

1. Breaking smaller tasks into large steps. / B HieT Hrl E@ P # fyuIford &z

2. Presenting the information to learner using visual aids. / €Y TS &l I R Rremeff (L_*FTT) CARSIECAR]
U¥d PRI

3. Involving the learner in group activities. / g Tfafafiral & fRremeff (?FTT) HI A BT

4. Providing the learner with immediate feedback. / fRremaff (?FTT) P! d@Td Uldfhar Ta &A1

Correct Answer :-

« Breaking smaller tasks into large steps. / DI Hid B q I8 BRI H fAUTRTG BT



10) According to Good and Power, which category of students are more likely to engage in outbound
activities? / 33T 3T @Al & AR, BT B fH ot A snsearss nfafafiral & wew A 9t siftre
HUTST 82

1. Social / TSR
2. Phantom/ﬁ?‘q
3. Successful / H Al

4. Dependent / R

Correct Answer :-

« Social / GTHTIIH

11) Specialized teaching strategy geared toward supporting student’s learning is BAF

Hram &1 90l F31 & fog dar fafkre Rrgror orifa gl
1. Writing/@@tf
2. Scaffolding / BT

3. Reading / UT&

4. Brainstorming / fAaR-FY=

Correct Answer :-

« Scaffolding / WHBIET

12) Which of the following is not one of the main method of deriving traits? / FraffEd o & @ar @tgror
T B34 ot g1 fif & § v 7 22

1. Hypothetical / UTdh cUATHD
2. Lexical / Qe

3. Statistical / HIRHBI

4. Theoretical / Sgifaed

Correct Answer :-

« Hypothetical / TTaHeT-TTHD

13) Which of the following is true about modern evaluation? / TP eai®H- & IR | fAufafaa o
| B4 | HE B2

1. Summative evaluation / q\l‘lldj-lob J-cl\qqidﬁ'l

2. Continuous evaluation / Idd el



3. Product orientation / 3dIq CFE[@TWUT

4. Rote learning / I¢HR HRGT

Correct Answer :-
« Continuous evaluation / gdd Hedlh

14) Which among the following is NOT the focus in planning and delivering a developmental,
comprehensive guidance and counseling program? / fafafadd & faom, e
IR R HRIHH Ft Y1 T SR fIafka w3 § o Hfga 78 dar g2

1. Financial / fa<ig

2. Personal / SfadiTd

3. Social / AT

4. Academic & career / Q&0 3R HRAR

Correct Answer :-

o Financial / ﬁ?ﬂ‘q

15) Who elaborated an enormously complex notion of natural development under a thinly disguised

divinity? / fPa TP § =5 feaudar & agd Uipfa® faw™ 91 te s Sfed yrRun &1
faeqa faram?

1. Baldwin / STeSTa
2. Erikson / sﬁ_cr\:ﬂ
3. Piaget / BRI

4. Vygotsky / ATTTIep!

Correct Answer :-

« Baldwin / STcgieH

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / CEGE] aniaqﬁa?w H
A g s1aF 8

1.1
2. 15
3.10

4.0

Correct Answer :-

e 15



17) The environment in which children grow up will how they think and what they think

%bout./mqﬁﬁmﬁaﬁa%ﬁ?r%;a? Pd1 ¢ I a8 FA Hiadar 2 iR a8 =1 daar
|

1. maintain / aﬂf@ﬁ
2. weaken and disturb / HHSIR 3‘h? WY
3. scare / SX[I

4. influence |/ THIfad

Correct Answer :-

« influence / gHIfad

18) Gender division is defined as ./ Ty a1 & ¥0 H gRHia
frarmar gl

1. Division between male employees and female employees. / YU ﬁ?ﬁﬁﬁﬁ%@a
fqUTSH |

2. Biological differences between males and females. /Q’\Wﬁﬁ ﬁ?@@\ﬁ%@ﬁﬂm 3N |

3. Male to female ratio. / G4 ¥ HfgelI3f &1 SUId |

4. The hierarchal roles of males and females within society. / JHIS & 3iafd W 3R II%ETGﬁ P
ey YHdHTa|

Correct Answer :-

« The hierarchal roles of males and females within society. / THTS & 3faifd go®l 3R Afgarsii &
U HHeBTSA |

19) What is teaching through deductive method? / e fafer g Rreor =ar %?
1. From macro to micro / Al I Iﬂ%ﬁ ddh
2. From general to specific / I ¥ ARy d&

3. From specific to general / fafRry & 9= de
4, From easy to difficult / 3T J Hied dd

Correct Answer :-

» From general to specific / ATHTI Y fafy 9%

20) Students don’t want to learn new concepts which are ____. / @ fagmffst ___ &
2 91 9 srayrRumsii ®) WA A Trgd ¥ |



1. Ambiguous / Tferende
2. Intelligible / §fGITRT

3. High quality / RSN

4. Plausible / Siep-foR

Correct Answer :-

+ Ambiguous / I e

21) Which of the following statements is NOT true? / fufaf@d Y1 # ¥ Fi9 I1 94 &)

e
1. Some diseases and disorders are a product of inheritance. / P& AT IR faBR CRURAK] gl

2. Enriched environment enhances child’s development. / dH& dTdIdRU] g o [dh™ BI deldl %I

3. All genetic disorders can be prevented by taking proper measures. / SFId I dvap Tt e—naaﬁw

fIHRI B AT N THA 5|
4. Children are able to learn more finite skills through play. / = QA & H1H T 34fp uRfAd S
A A gem g

Correct Answer :-

 All genetic disorders can be prevented by taking proper measures. / S U HRah et &W

PRI B ApT ST GHdT B |

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? /

e & TS e & Rigia ) qd Siharars s &1 aea |82
1. Operational thought / dfhards® faar

2. Abstract concepts / &Pff STTYROMT

3. Object permanence / 9] fRuRar

4. Symbolic thought / UclidbTa® fdaR

Correct Answer :-

e Operational thought / dfrardsd faar

23) Which of the following is not a concept related to classical conditioning? / Fufafaa 7 9 #19 @

FATI®t el (RRUfART wggen) @ Tafta sraurom 78 82
1. Neutral stimulus / I Eﬁw

2. Conditioned response / Wﬁlﬁ 3171'@771'[
3. Shaping / fegur (‘\ﬁfﬁﬂ)



4. Stimulus generalization / EE‘TW IR

Correct Answer :-

 Shaping / Ao (Eaﬁ"T)

24) Each child is unique. This statement refers to the principle of: / Y& g=IT 3ifgd1y B
g Y ¥ Rigia @) deffa srar 21

1. Continuity / IBEGEGII

2. Uniform Pattern / Th=Udl

3. Integration / QEFI@WT

4. Individual Differences / daTas oz

Correct Answer :-

e Individual Differences / atri%@ ferdr

25) Similar attributes are combined together by the child to form i &
frafor & 5= g1 U 9y T faRivare &Y frere s=mar ST @

1. Concepts / 3dYRU

2. Letters / 3{&R

3. Words / Rog
4. Judgments / AFHIT

Correct Answer :-
e Concepts / 3[dYRU

26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / R&fre TRHU A frg R o= Figd FA A=
ATAE ad 3R AT FI =S IHH T B &:

1. Writing skills / TG @l
2. Scientific ideas / 33|Tﬁ$ feR

3. Communication / IR

4. Student activity / ﬁ?ﬂzﬁﬂqﬁ{

Correct Answer :-

« Scientific ideas / 33T faaR



Inclusive education is a new towards educating the children with disabilities. /

AT fRrequ, e g &) Rféa #3131 fawn & v T gl
1. Demand/rlﬁlv"T

2. Approach / 3UNTH @@aﬁm)
3. Direction / G (fa=m)
4. Process / Ufopar

Correct Answer :-

« Approach / SUNTH (PPN

28) Ignoring of the learning- readiness would result in ./ ST - qeRdT B SueT
& AR W ufvoms &t

1. Development / fd&rd
2. Maturation / GRT&dI

3. Improvement / YR

4. Frustration / R

Correct Answer :-

o Frustration / fARTRM

29) Self-evaluation by a teacher shows his role as a AL e grT E’d-ﬁ?ﬂ'iﬁ 3@t
_ Yyt exiar gl

1. Classroom researcher / ® &l ereff
2. Reflective practitioner / faaR=ia gite (Rudifdca Hfaeer)

3. Co- learner / W—@Tm?ﬁ(ﬂ%
4. Facilitator / UfR1&fd

Correct Answer :-

« Reflective practitioner / faeReid gfve (Rudifaea DfaeeR)
30) What does the term ‘Dyslexia’ denote? / 'fefRTaT Teg fHA fAsfua wean T
1. Difficulty in taking notes. / '_‘hE\q NEEKGCaird

2. Learning difficulty that can cause problems with reading, writing and spelling. / IR &t Eb‘l%‘ﬂ‘s‘ S
Ug, fera ST it & waan Uar &R abdll 5|

3. Learning difficulty with number processing and calculation. / TR THTH T 3R U & 1Y e A
I



4. Specific handwriting disability. / fafRry ferarae feaaimari

Correct Answer :-

» Learning difficulty that can cause problems with reading, writing and spelling. / IRa &t ?ﬂ%_*ﬂ_sc S
U, fora™ 3R ga-it H gHwr 91 = Il 7

Topic:- General English(L1GE)

1) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We
are now at the mercy of atom bombs and the like which would destroy us
completely if we fail to control them wisely. And wisdom in this crisis means
sensitiveness to the basic values of life; it means a vivid realization that we are
literally living in one world where we must either swim together or sink together.
We cannot afford to tamper with man’s single minded loyalty to peace and
international understanding. Anyone, who does it is a traitor not only to man’s past
and present, but also to his future, because he is mortgaging the destiny of unborn
generations.

The author is very concerned about the danger of nuclear weapons because he
feels that:

1. The world is on the brink of disaster
2. His country is threatened by a nuclear war
3. A nuclear war will destroy human civilization

4, All countries are interlinked and one cannot escape the consequences of what happens
to another country

Correct Answer :-

« A nuclear war will destroy human civilization

2) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We
are now at the mercy of atom bombs and the like which would destroy us
completely if we fail to control them wisely. And wisdom in this crisis means
sensitiveness to the basic values of life; it means a vivid realization that we are
literally living in one world where we must either swim together or sink together.
We cannot afford to tamper with man’s single minded loyalty to peace and
international understanding. Anyone, who does it is a traitor not only to man’s past



and present, but also to his future, because he is mortgaging the destiny of unborn
generations.

The tone and style of the passage show that the writer is:

1. Unaware of the global power situation

2. A prose writer with a fascination for images and metaphors

3. A traitor who wishes to mortgage the destiny of future generations

4, A humanist with a clear foresight

Correct Answer :-

« A humanist with a clear foresight

3) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We
are now at the mercy of atom bombs and the like which would destroy us
completely if we fail to control them wisely. And wisdom in this crisis means
sensitiveness to the basic values of life; it means a vivid realization that we are
literally living in one world where we must either swim together or sink together.
We cannot afford to tamper with man’s single minded loyalty to peace and
international understanding. Anyone, who does it is a traitor not only to man’s past
and present, but also to his future, because he is mortgaging the destiny of unborn
generations.

As per the writer, ‘wisdom’ in the present crisis means:

1. Determination to ban nuclear weapons

2. Responsibility to the ‘unborn generations’

3. Awareness of the basic values of life

4, Awareness that we stand poised precariously on the razor’s edge of destiny

Correct Answer :-

« Awareness of the basic values of life

4) Fill in the blank with appropriate suffix in the given sentence:
Rani is a very creat-- girl as she always wins prizes for drawing in school.

1. --ness



2. --ive
3. —-ivity

4, --ion

Correct Answer :-

5) Choose appropriate article for the given sentence:

I studied French in high school for four years.

1. an
2. the
3.a

4. no article

Correct Answer :-

* no article

6) Choose appropriate articles for the given sentence:

I am going away for ___ week in September, but I will return during ___ following week.
1. a, the

2. the, an

3. the, no article required

4. no article required, an

Correct Answer :-

7) Choose the appropriate synonym for the highlighted word in the given sentence.
Human beings are vertebrates.

1. Walk and stand erect

2. Spineless

3. Having a backbone

4. Able to think wisely

Correct Answer :-



» Having a backbone

8) Choose the appropriate tenses given to fill in the blanks in the sentence :

Haneesh a programmer. He for Infosys.
1. is, works

2. was, working

3. had, had working

4, has been, has worked

Correct Answer :-
e is, works

9) Choose the appropriate antonym for the highlighted word in the given sentence.

Due to lack of sleep and a befuddled mind, he could not remember if he had to catch the plane
tonight or tomorrow.

1. Clearheaded
2. Addled
3. Expendable

4, Baffled

Correct Answer :-
¢ (Clearheaded

10) Choose the appropriate conjunction for the given sentence.

Priyatold me____ she was a singer.
1. that

2. while

3. so that

4. if

Correct Answer :-

o that



11) Choose the appropriate determiner to fill in the blank.

We are not familiar with ______ part of the city.
1. this

2. all

3. many

4, few

Correct Answer :-

o this

12) Choose the appropriate prepositions for the given sentence:

We stayed ____ a nice hotel when we were _ New York.
1. in, on

2. on, from

3. at, in

4. by, in

Correct Answer :-

13) Choose an appropriate modal for the given sentence:

we go for a walk?

1. Shall
2. Can
3. Will

4. May

Correct Answer :-

« Shall

14) Choose the best option which completes the dialogue sensibly.



Lisa said, "Tina went to the station an hour ago."

1. Lisa says that if Tina has gone to the station an hour ago.

2. Lisa remarked if Tina has went to the station an hour before.
3. Lisa said that Tina had gone to the station an hour before.

4. Lisa said that Tina went to the station an hour ago.

Correct Answer :-

« Lisa said that Tina had gone to the station an hour before.

15) Choose the option that best explains the highlighted expression:

My mother’s recipes are beyond question, easy and tasty to make.
1. questionable

2. doubtful

3. below par

4. undoubtedly

Correct Answer :-

e undoubtedly

16) Choose the most suitable pronouns for the given sentence:
If ___ catchacold, ____ can spread to others.

1. we ... they

2. you ... it

3. you ... you

4.1..you

Correct Answer :-

17) Which of the following options best combines the two given sentences?

He was late. He reached on time.



1. He was late, yet he reached on time.
2. He was late, she reached on time.
3. He was late and reached on time.

4, He was late if he reached on time.

Correct Answer :-
» He was late, yet he reached on time.

18) Choose the right tag:

Something happened at Rani’s house this morning, ?
1. hasn’tit

2. didn't it

3. Isn’tit

4, has it

Correct Answer :-

o didn’tit

19) Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton
itself provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all
seasons. It is Corduroy's link with the good breeding and country living that made
it an essential ingredient in the gentleman's wardrobe along with Wellington boots
and decent woolens. It combines the comfortable nonsense appeal of cotton with
the perfectly correct luxury finish of velvet. Corduroy has the ability to appear
either supremely sophisticated or rough and ready.

What does the writer refer to 'corduroy's utilitarian tenacity'?
1. Though expensive, it is economical in the long run

2. It does not need frequent washing

3. It is useful because it is durable

4, It has remained fashionable over several years

Correct Answer :-



- lItis useful because it is durable

20) Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton
itself provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all
seasons. It is Corduroy's link with the good breeding and country living that made
it an essential ingredient in the gentleman's wardrobe along with Wellington boots
and decent woolens. It combines the comfortable nonsense appeal of cotton with
the perfectly correct luxury finish of velvet. Corduroy has the ability to appear
either supremely sophisticated or rough and ready.

With respect to the passage, corduroy is necessary in a gentleman wardrobe
because:

1. It has its associations with good upbringing and a conservative lifestyle
2. It goes with wellington boots
3. It can be an idea alternative to the woolen clothes

4. Its current revival gives a taste of the latest fashion

Correct Answer :-

« It has its associations with good upbringing and a conservative lifestyle

21) Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton
itself provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all
seasons. It is Corduroy's link with the good breeding and country living that made
it an essential ingredient in the gentleman's wardrobe along with Wellington boots
and decent woolens. It combines the comfortable nonsense appeal of cotton with
the perfectly correct luxury finish of velvet. Corduroy has the ability to appear
either supremely sophisticated or rough and ready.

As per the author, the special quality of corduroy is that:
1. Both the rich and that not-so rich can afford to buy it
2. It combines the virtues of both cotton and velvet

3. It needs no ironing



4. It contains the correct mixture of cotton and woolen

Correct Answer :-

« |t combines the virtues of both cotton and velvet

22) Read the following passage carefully and answer the question given below it.

We stand poised precariously and challengingly on the razor’s edge of destiny. We
are now at the mercy of atom bombs and the like which would destroy us
completely if we fail to control them wisely. And wisdom in this crisis means
sensitiveness to the basic values of life; it means a vivid realization that we are
literally living in one world where we must either swim together or sink together.
We cannot afford to tamper with man’s single minded loyalty to peace and
international understanding. Anyone, who does it is a traitor not only to man’s past
and present, but also to his future, because he is mortgaging the destiny of unborn
generations.

What is the best way to escape complete destruction in an atomic war?
1. To ban nuclear weapons

2. To turn to religion

3. To work for international understanding and harmony

4, Invent more powerful weapons

Correct Answer :-

« To work for international understanding and harmony

23) Read the following passage carefully and answer the question given below it.

Corduroy is fast establishing itself at this year's fabric, while the ribbed cotton
itself provides utilitarian tenacity, texture and warmth, it is the fabric's long held
associations that may provide a hint to its current revival as a fabric for all
seasons. It is Corduroy's link with the good breeding and country living that made
it an essential ingredient in the gentleman's wardrobe along with Wellington boots
and decent woolens. It combines the comfortable nonsense appeal of cotton with
the perfectly correct luxury finish of velvet. Corduroy has the ability to appear
either supremely sophisticated or rough and ready.

Corduroy is a fabric for all seasons because:

1. Of its peculiar texture and warmth



2. It is made popular by catchy advertisements
3. It can be worn not only in winter but also in summer
4, Gentleman can wear it in both formal and informal occasions

Correct Answer :-

« Of its peculiar texture and warmth

24) Choose the appropriate tense to fill in the blank in the given sentence:
Aarav told me,he  come tomorrow.

1. will

2. has

3. was

4. had

Correct Answer :-
o will

25) Rewrite the following changing the active sentence to passive.

Why does one neglect duties?

1. Why are the duties being neglected by us?
2. Why are the duties neglect by us?

3. Why the duties are neglected by us?

4. Why were the duties neglected by us?
Correct Answer :-

« Why are the duties being neglected by us?

26) Fill in the blank with the correct option in the given sentence:

She is a nice girl, a bit --mature, but very intelligent.
1.im-—

2.in—



3.un—
4. pre—

Correct Answer :-

27) Choose the appropriate option that rewrites the given sentence in its active voice.

I think we are being followed.

1. There is nobody behind us.

2. Someone followed us, I think.

3. I thought that people are behind us.

4. | think someone is following us.

Correct Answer :-
« [ think someone is following us.

28) Choose the option that substitutes the given phrase appropriately.

One who offers his or her services of his/her own freewill
1. Slave

2. Volunteer

3. Servant

4, Worker

Correct Answer :-
e Volunteer

29) Choose the right tag:

It'll rain soon, ?
l.isn'tit

2. wouldn't it

3. won't it

4, will it



Correct Answer :-
e won'tit

30) Read the sentence carefully and choose the option that has an error in it:

Heavy luggages must be avoided in short journeys.
1. Heavy luggages

2. No error

3. during short journeys.

4. must be avoided

Correct Answer :-

o Heavy luggages

Topic:- General Hindi(L2GH)

1) a1 Hag et A

fordt 9~ \ifg gy faa ys 98 Seg 8 Bidt
I o Fefa 90 A <Y § & @it |t
Pled Ted aIad sig ARHE-J Y3 At
Prar gy framafa ufr ufar gfar =7 wme=r 2
GRE™ Aryad aHIE sl g 3t St

Tl i Hed Hid B divel  STgafd FF S
FeT B 3fe R & AR T gl A 9«

g~ g Fed $IF 8 WA &1 g R ard il

MR g Srter MY g Fd Wd |

Pl ¢ ¢ TaTd TuTad §9d 99 ggBIdll

T A 3 AR Wt qrefE wag T i
e+ g Y o1 & ard sgafa gf~ gf S
Gg P TAYF I9T3 SIHd 81 BT Yd|

TR T Aifg Me= 9 & qrar g gan

S Ui H1 UgHR 19 TR T Uy BT IR JaTsd:
TS - ST | T BI-91 T4 TR-9R U9 8 87
1. TR Ad1-forar & g2

2. ORI &M T 2

3. @A fra i & smu gl

4. fhaa gy did gl

Correct Answer :-

o TR UL B 82



2) BT Hag gt At

et I MR gu Ra ug a5 3g B Bt
T o Fefa 90 9 i § g @it widt
FTed gd ¢a1ad sig ARHE-JT Y At
Fral gy farafa iy ufa 3fa = wre= A
e FAYa 7HIE g gawR ot st

ol I Hgd Tid & digl g Tgufa & St
FET B 3fe T & AR @ gl A |

g g Fgd $IF & UTaT &I g a1 ardll

TR H¢ SeT M  Fd WTH T4 |

Yedt ¢ ¢ TaTd TaTad §9d 98 ggaIa i
 uIE B ARA Wt grefE wag T dig
e g@ R o1 & ard srgafa g~ g~ 9
g P TAYS TGI8 90 81 DI Y|

TR = Hifg My 9@ & A Ul

ST UL $1 UgHR A4 U9 Y Uy BT IR gaTsd:
U - 91a® & AR SU fohd yeR gy foan o @1 72
1. UreT T

2.3l

3.7

4, dR-dR

Correct Answer :-

o dR-dRR

3) A1 Hag TN A

et a¥ wife gy fUa g a5 3eig B Bt
T pefa 9 Ft 91 w4t § § @it @i
Fled [gd ga1ad Sg ATRF- Y3 @t
Fral gy farafa ufy ufy 3fe = wre= A
GRe™ Ayad eI st gawR 3t S

Tl A Hgd Aid B Agl g SRIATT B STl
FET B3 3fe N & AR Qe g afg sma|
g~ i gd B4 & AT &) 8 SR ari

R A SIS M G Fd WTHd T |

Yebl & 919 TUad g9d 99 gIE I

T A 3 IR Wt gefE wag T
e g R o1 & ard sgafa gi~ g S
Gg P SAYE I9T8 oA 81 DI Yd|

TR T AifE e 3t 9 & arar g gan

IUYT TR I USHR -1 ID ¢ ¥Y BT IR 133
U - STd® HIGT 9 471 7 39 Bt Rrprad &2 8182
1. faam

2. QY-UTd



3. ARIAICT
4. 09

Correct Answer :-

o ARG

4) BT Hag TN AT

fordt 9~ wifg gy faa ys 98 S1g 8 Bidt
T pefd 9 Ft 9+t w91 § & @it A
PTed T[ed garad sig AE-d Y @t
Frar gy framafa iy ufar gfar =7 wme=r 2
Yo FAya g g AR 3t St

Tl A1 Bgd HId B Agl g SRIATT B STl
FeT B3 3fe R & AR G gl A 9a|

g gy Fgd &I 8 AT 1 g R Al

TR g SrEter MY g Fd Wd M|

ged! ¢ ¢ 1qTd TUTad §9d e gIPa |l

T A 3 IR Wt qrefE wag T i
e g Y o1 & ard sgafa gi~ gf S
g FH gAYS T3 oI-Hd &1 DI Yd|

TR W AifE Me= 9 & arar @i

ST Ui H1 UgHR -9 TR Y Uy BT IR JaTsd:

R - Ui § St ufdRt “ga garaa” 1 wifee A g 2
1. AT 3R G

2. TRAT 3R TgamT

3. AT 3R A

4, T 3R T

Correct Answer :-

o YT SR AT

5) BT Hag gt Tt

et av TR gy fa g g 3eig B Bt
TN Fefa ga ot 9+t =i § @ @it W
FTed [gd ¢aIad sig ARHE-IT Y3 et
w1 gy farafa iy ufy e = wre= A
e By a-ed gt gawR o1 St

Tl I B Wid B Agl g SRIATT B9 STl
FeT B 3fe T & AR @ g g s«

g i Sgd B4 g W1 & § )i ardl

TR A SIS M  Fd WTH T |

Yl ¢ ¢ TqTe TuTad §9d 99 ggedll
TS & aRA Wl gEfE wag T A
g g9 g &1 & ard sgafa gi~ g S



g FH IAYS TS S-Hd &1 DI Y@
TR W Hifg Mu= 9@ & arar gy

IuYed U= B) Ughs 19 UD T Uy P IR 9133
U - Ui § $d fast Ay @18 82

RICl|

2. M

3. ATl
4, fudr

Correct Answer :-

o« TEA

6) AT Hag Tt Tt

et I OifR gy Ra g 9% 31g B Bt
T Hefd 9 It 9 w4l § § @it A
FTed gd gaIad sig ARHE-IT Y et
Fral gy farafa iy ufy 3fa = wre= A
e Y 7HIE g gawR ot st

ol If Hgd Tid & digl g STgufa &a st
FET B gfe R & AR @ gl A |
g~ g Fgd 9 & UTaT &1 g a1 ardll

TR H¢ SeT M  Fd WTH T4 |

Yedt § ¢ TaTd TaTad §9d 9a ggaIa

q HIE B ARA At grefE wag T G
e g@ R o1 & ard srgafa g~ g~ 9
g P TAYS TGI8 90 31 DI YT |

TR | W Mo 3 & amar g yan

ST UL B UgH -1 YD 7T U HT 36 Targd:
U - GGl ATdT T GApT 5 361 22

1. frd Rl

2. g &t T a1t

3. AABRI

4. QY U4 BT 3fTaTSt

Correct Answer :-

« HIgd I W a1d

7) Wb BT gIRT A1 A 81 T8 IRY F 2feof-gdf 3R W fRua ? te yradiv ok & k-3 §iuf &1
g 81 39 BI¢ T I I fi5 UFT A qleT o1 TohdT 8- Sut, HeATdl 3R gfémft & i+ &t woa ugifsal 9
W §H & SR ITaTaTd F oY S giid §, THT I8 TRT 3% U A & i ot 78 va11 39
P BI-BI TR-IT TH-gAY A T 3R W 78 8 | 371 TR-Iw4l A fiF faRiy & v A Iwie-y 3-
IR YT & "AHgHrar, aadt Wit & sifver R gféol wm & ‘asirar | sifer 3t st i



3! 9gd foAl 7% Ry NfSP-Aiepfad a1 & reiP-ga 1 d=-fag W 53 wared) a1 gd ga=
H Y- #1 3ryaqd It P SR ARY G| Uiadl Jared! $671 gd # 98 SAfa avA W Ug™ 718 |
INTFAT F ARH-BT D1 TAT P 3faerd BT Wul-g1 771 Sirar 31 AReST & I a7 3 811 & & 9y
Tgd ‘APi-ar A ufaer W mpr & | A @t It et e ufes J vd=ar aret
¥ 9gd M A1 TI= 7 27 U 9 Wil aral HT gH1aar fHar| 3 8 qB] WRIed §5 | 59 R &
a1g Wt AfSF-aRPplaw = J A= &1 Ugd 971 38T 404 3.9d T &1 Wrog g5 &t o 427 S.qd
T ¥ fayufis qRife o fAaR® @Y &1 971 g3l 39 TSR Wel A U+ JarawyT § U= 1 &t
wRTerg o1 faifiteT ¢E At 39 fomae wR efeTiie wier &1 guTe gsAr w@rnfas ol

ST TR Y UG -1 IR T Uy HT IR Ia153:

R - TAH $ WRog | fHan af qd aife wiel &1 5+ gam?
1.23 99

2.32qY

3. 100 T

4,259

Correct Answer :-

. 2394

8) W T g1 71 A 31 T8 IR & cféroft-gdi SR W Ry 8 vs uragiu oik #3 o1e-o1e §iul &1
TYE 31 39 BIC T S/ B! 19 UFN & FieT o g 3- I, aeaadf iR gféof | & Y € Treu veifsat @
W I & FROT ITITG & U 3o giiy €, ST a8 IR1 &1 U 2 & Srefir st =1t vem1 5o
3P BI-BI TR-IT TH-gAY A T 3N WA T8 8 | 37 TR-Iw4l A 9 favly & v A Iwieiy §-
IR UTT § HBGAT, AT URT & ARG SR gfaofl urT & ‘aeitar | st $t Teyr gd=a
8 954 31 7o Ry AfSe-aiplas Aa11 & ITeis-gd &1 S-=-fa=g 3871 B! Aadred) $61 gd g
B F-fage &Y sryayd St ®1 dR ARy g1 uTadl Xaredt 9T gd | 98 SAfd TR WR ug™ g At
IRTAT & RH-BTA D TAT F 3agTd BT TGUl-01 THT A1aT 8 1 URae & 99 &7 3 g1 & of a9
gd ‘AP A AfST W T S | "aidi-ar @t Iy el Fand e J o= arel
¥ 9gd M A1 TI=F 7 27 Ul 9% Wiel’ aral HT ghraar frar| o # 39! WRIed §5 1 59 R &
T1g Wt NSFH-TRPla® = A "TI=T T Ued T91 TeT1 404 5.9d TAT &1 WRIoy g5 A 3R 427 §.9d
A & fayufis erife ok faaR® Wel &1 9 gaiT| 39 UPR Wel A Ut garawT ¥ 3y 337 ot
wRTerg &1 faifteT <& At 3u% fomas wR tfveTiie wera &1 yuTe gsAr w@rnfas ol

ITYE TR B USHR A1 I Y ¥Y BT IR qa133:
U - A Dt W o1 YHTT foraads e = us?
1. IREled

2. wicl

3. SiTSl I

4. ORI

Correct Answer :-

9) W FT gIRT T4 A g1 IT IRIY & gfoft-ydf 8k wR Ra 8 v uradiu ok &8 Bie-sie gl &1
TYE 1 39 BI¢ T S/ B! o9 UFN & gieT S G 8- S, Aeaadf iR gféoft | & 9 € wrsa veifsal @



W F SR ITaraTd & g 3= g7id §, ST 98 TRT 3 T W1 & e Hoft =) <a11 sod
IMF BIE-BIe TR-IST TH-gAY A AT 3R Waid 78 81 39 TR-I41 § o IRy v & w4 3-
IR UTT H ‘Hhgfar, Auad UrT & R R gféoh urr & ateittmar | siter 3t o wd=r
3t 9ga el 7o Qi RHSw-wiRplas a1 & Seis-ga F1 F5-fawg 781 o3 Tt $a1 gd gam
A FH-RTE Y SryAyd IAd BT ER SHRY §aTI Uradt YT $6T gd & 9% IAN 99 W ugd TS A
NN F RIAH-BTA DI TAT P 3faerd BT Wol-1 U1 S1at 31 ARads & 91 &7 3 811 & o 99
Ugd ‘Arsi=ar 3 ARG IR A FR f&ar | diei-ar ot Isur el Fardt ufdd ¥ wd=r aat
¥ 9gd M A1 TI 7 27 Ul 9 WIel’ ardl HT gH1adm fHar| 3 | SqB! WRIed g5 | 59 R &
15 Mt AfSF-aRPpfaw = F 'TI=T &1 Ugd 971 38T 404 3.9d T &1 WIo g3 &t oiv 427 S.qd
T ¥ fayulis oRife o fAaR® @) 1 970 g3l 39 UHR Wel 3 Ul JarawyT § U= 1 &t
wRog 3 fafifteT ¢t 4t 9% faaa wR efasTRie wRiera &1 e usHr WiHifa® o1l

ST TN DI USHT A1 T Y UY BT IR q4133:
U - =T A fag Iy R SmepHvT fhar ur?

1. gl
2. SfIDI
3. T

4. Al

Correct Answer :-

10) WP T gERT W T 81 8 IR & gféofl-gdf Bk W fRua 8 o uradiy ok &% si-sie fiuf &1
g 21 59 BI¢ T I I Fi7 TN A qTeT o1 T 8- Sut, HeAqdl 3R gfémft T i+ & woa vgifsa 9@
W EF P SR TaTaTd S T 3= g1l €, SHRIT U8 [T 321 T I & el ot =) Te11 gud
P BI-BIE TR-IT TH-gAY A T 3R T 78 8 | 371 TR-Iw4l A fiF famly & v A Iwie-iy 3-
IR U | "HHg-ar, Aad! U # fer R gfgof wm & ‘aeifrar | s 3t sy i
8 954 31 7o Ry AfSe-aiplas Aa1 & Teis-gd BT d=-fa=g 381 B! Aadred) $6 gd g
T FH-fag &Y sryayd I &1 SR RY gl uTadt XaTsd) $9T gd # 9 ST Ivu W ug™ 13 A
NN F ARIAH-BTA D1 TAT P 3faerd BT Wol-J1 7T Srat 31 AReT & 99 &7 3 811 & & 9y
Tgd ‘ArsI=ar 3 ARG UR Al FR f&an | dii-ar $t tsur wrel” Fardt ufda ¥ wd=r arat
¥ 9gd M A1 TI= 7 27 U 9% Wiel’ aral HT gh1adr fHar| o § 39! WRIed §5 1 59 R &
e WY AfST-aiRPpiae ¥ F 'Td=T T A a1 3611 404 $.9d T &) o g5 At 3R 427 S.qd
T ¥ fayufis aRife o fAaR® @Y &1 970 g3 39 TSR Wel A 31U+ arawyT § U= =1 &Y
wRTerg o1 faifiteT ¢d At 3u fomas wR tieTiie wier 1 guTe gsAT w@rtfa® ol

SUTT TR P UgH? 12 IR T Uy HT IR Ia133:
R - A & I U § FI4-971 757 fRq u1?
1. Trel

2. Heh g

3. 3ffxiehT

4, AipIAT

Correct Answer :-



11) P BT GERT AW T 21 98 TR & fof-udf 8 w A § 1 uradiu ok w3 SR-sie gl &1
TYE 21 59 BI¢ T I B fi71 UFT A il o1 Tl 8- Sut, HeATd! 3R gfémft T i+ &t woa ugrfsal 9
W & SR ITAATT P T e i §, ST a8 W1 321 vep 3 & s it =1 <am) s
P BI-BIE TR-IT TH-gAY A T 3R W 78 8 | 371 TR-Iw4l A fiF faRiy & v @ Iwe-iy 3-
IR YT | "AFHgHrar, awadt Wit & sifver R gfgol wm & ‘astrar | sifer 3t syt i
3! 9gd faAl 7% Ry NfSP-APpad a1 & 3reiP-ga BT d=-fag W 53 Wared) a1 gd g
T FH-fagE &Y sryayd It &1 SR SRY gl uTadt XaTsd) $9T gd # 98 ST IRy W ug™ 13 A
NN F ARH-BTA D1 TAT P 3faerd BT Tqul-g1 71 et 31 ARedT & 9 &7 3 811 & & 9y
Tgd ‘ArBI=ar 3 ARG IR AU FR f&an | ‘dii-ar $t Isur el Fardt ufdd ¥ wd=r arat
¥ 9gd M A1 TI=T 7 27 U 9 Wil aral HT gh1adn fHar| 3 8 3qb! WRIed §5 1 59 R &
a1g Wt AfSF-aRPpfaw = F A= &1 g I 38T 404 3.9d T &1 Wro g3 8t ok 427 S.qd
T ¥ fayulis qRife o fAaR® @) 1 970 g3l 39 SR Wel A U arawyT # U= 31 &t
wRTerg o1 faifteT ¢d At 39 favas wR efsTie wiera &1 guTe gsAT w@rtfas ol

ST TR P UG 12 IR T Uy HT IR Ia133:
A - Ww IR & 5 umT & fRa 32

1. afaoft

2. Ti&oN-gal BR R

3. geradr

4. JAI BR W

Correct Answer :-

. SfEoilgal 8RR

12) Hep BT gERT 19 A ¢ 1 T8 IR & faoft-gdf sk R R 8 t& uradiu ik 93 sie-oie giul o1
TYE 21 39 BI¢ T S/ B! o9 UFN & FieT S g 8- I, Aeaadf iR gféof | & 9 € Trsa veifsat &
W I & FROTITATG & U 3o giiy €, ST a8 1 S U e & Srefir st =18t vem1 5o
P BI-BI TR-IT TH-gAY A T 3N WA T8 8 | 37 TR-Iw4l A 9 faly & u A Iwie-y §-
IR UTT § HBgAT, HeAad! URT & ARG R gfaol urT & ‘aeit=ar | st $t e gd=a
8 954 31 7o Ry AfSe-aiplas Aa11 & ITeie-gd &1 d-=-fa=g 3871 B! Adred) $61 gd g
B F-fage &Y sryagd St &1 dR ARy g1 uTadl RaTedt ST gd # gg SAfd Ry WR ug™ g At
IRNTAT & RIH-BTA DI TAT F 3fagTd BT TGol-1 W1 A1aT 8 1 URae & 99 &1 3 g1 & o a9
gd ‘AreI=rr 3 ARG U IHHI S f&ar | diei-ar ot sy wrel” Fardt ufeda § wd=w et
¥ 9gd M A1 TI=F 7 27 Ul 9% Wrel’ aral $T gerar frarl o # 39! IR §5 1 59 R &
T1e Wt ASF-TRPla® = A "I T Ued I91 TeT1 404 3.9d TAT &1 WIoiy g5 AN 3R 427 §.9d
T & fayufirs eife ok faaR® Wel &1 9 geiT| 39 UPR Wel A U+t garawT ¥ 3y 337 Ft
wRTerg &1 faifeT <& At 3u% fomas wR tiveTie wiera &1 yuTe gsAr w@rnfas Tl

IUed TR B USHR AR U Y ¥Y BT IR q4133:

U - 5 s = 27 i 99 wrel aral &1 goean fear?
1. Ahg-aT

2. 3ffxiehT

3. T

4. AITT

Correct Answer :-



13) W& P GHT T g 8| T§ IRIT & Sfaroft-gdl ok W fRud & T uradiy 3R &3 s1-o1e dul &1
g 21 39 DI A S/ I 9 YN | gieT o Aol 8- ST, Heaadt 3R gféroft & i & wew vefsat @
W T & SR IarTd & g 3w g7 §, AT I8 IRT %1 U A & e $oft =18 ven1 g
AT BIX-BIE TR-IY TH-gAY A AT 3N WA I} 81 57 TR-Iw41 § & faRy =7 I Iwwa 3-
IR YR H HAHgHAT, Heaad! U H <HRIST 3R gféoft um & aeitar | Sivesr $t asyri gd=r §
9gd &l 9% Rifiy ASP-Aivplae a1 & reie-ga BT =5-fawg 3611 ST AAT) 91 g g A
FH-fa9 B ryayd STl &1 SR ARY gaiT| UTadt Waredt 9T gd H I8 I 99 W ugd s &t iRadw
F UNA-HTA B WA & sfagr &1 Wol-ga a1 Srar 31 ARG & 9 &7 3 811 & & avf ugd
BT 7 <SRIPHr R MU H f&ar| ddiar $t aaurt wreh Fandt wfd § edwr aal |
9gd 3 A1 TI= A 27 qUl 9P WTEl aTal &1 Gohraal fHar| 3 § 0D WIS g5 | 39 WRed & a1g
TfSP-qiplar e ¥ TART T Agd 997 36T1 404 .90 T $I Woa g8 N R 27 ST A F
fayufts g=ife o faRe® @) &1 9 g3 39 TSR Wl 7 U FarawT ¥ (U I B WRIerg
faifteT 3 4t 39 i W= ST wiorg &1 U4 usHT WrHIfa® ATl

IUYaR TR Y USHR - I T Uy o1 IR Ja1sd:
WA - TR & SR TTet {5 I & ATl B Bl ol Jbdl 82

1. Tohg=am
2. 3ffxren

3. T
4. ArHI=aT

Correct Answer :-

14) W& P GEY T A 3| T§ IRIT & Sfaoft-gdl oR W fRua & T uradly 3R &3 s1-ok dul &1
g 21 59 BIC A ¢ BI &9 YT | dieT o gPHdT 8- Sut, Heaad! 3R gfaof 1 & A= 8 woa vgrfsai @
W T & SR IrarTd & g s g7 €, i a8 TR1 3% U A & e Foft 1 ver) g
AP BIE-BIE TRIST TH-gAX A T R W IR &1 37 TRI! | &9 Ry =7 & seaa-ia 3-
IR UTT A Tahgi-ar, Agad YT § <ifer o féoft urr § areifmr | <sifuer ot Iwur gd=wr §
9gd 31 9% Rifiy HSF-Aiplas 971 & areid-gd o1 =g 381 531 T 91 gd g A
-9 F1 3ryayd I BT SR ARY g | Ui Faredt $91 gd | g5 I A W uga 18 &t v
F UNA-HTA B A & sfagr &1 Wol-gan a1 St 31 AN & I &7 3 811 & & aff uga
AT 7 <3ffRIPr W ATHHY HR Gl Awiar @t Ieurt e Fardt e § o= gl @
9gd 3 A1 TI= A 27 IO ab TIE aTal ST HIaal fhar| o § ITD! W §5 | 39 WIed & 916 ff
SfSe-Tipiae fd A T T Hgd 941 @71 404 .94 T o1 Wog g5 A 3R 427 Syd A9 &
fayuRrs aiffe o fAaR® Wl o1 97 g3il 59 TSR Wel A Uit JarawiT # v I Ft WRIog &
fa i ¢t ot v fama W efsTRIe WRier &1 wyTa gsAT [aryifa® ot

ST TR B Ugh -9 U T Uy BT ITR gaT3d:

U= - A fhlt U IRIA & 1A 81 781 &1 HIRT T UT?
1. NS Twpfd

2. SIfSRIRITCH BT

3. g
4, URae



Correct Answer :-

15) W& PT GHY T T 8| T§ IRIT & Saoft-gdl oR R Rud 8 v uradiy 3R &3 B1-s1e §ul &1
TYE 21 39 DI A I FI AIF U # dieT o1 FHhdT 8- I, Hegad iR gferoft A i+ § wru veifsat @
W BN & R JraraTd & g s g €, 3afie a8 @ 3w U R & e waft Y e s
AP BIR-BI TRIST TH-gaR A T 3R WaF R &1 37 RIS & FiF fay &u & Ieaaiia &
IR UFT A A gar, Aeadt URT H <RI iR gféoft yr § aeifar | <siRier ot Iy gd=r 6
9gd &l 9% Rifiy ASP-aiplas a1 & reie-gd BT =5-fag 3811 ST AAT) 61 g g A
- #1 sryagd I T SR MY garm | urad Fraredt S gd # g5 Iafa w9 W uga s &t IR
F AA-HTA BI WA & 3fag™ &1 Wol-ga a1 Srar 31 ARG & 9 &7 3 811 & & avf ugd
ApI-ar = <3ffRPr W AmHHu HR a1 Aeit-ar @t Ieurt e fFardt wfdd & o= aal @
gd 3t 41 TIT A 27 T ab “TTE qTal BT HIaal fhar| 3 § ITD! WIoM §5 | 39 W & a1 W
AfSP-Tivplar e ¥ TIRT T g 99T 36T 404 S.7d WA P W@ g8 N R 27 ST A F
fayufts g=ife o faR® @) &1 9 g3 59 UPR Wel 7 Ut JarawT ¥ U+ I B WRIerg B
i 3t 4t STe R wR efaeTRIe WIora &1 yyTe g1 Wryifa® ol

IUYe TRIR B UgH 19 IR 7T Uy HT IR Id133:
T - fay uRis aifAe iR e wet &1 o= fora Trsa o gem U
1. et

2. GhgaT
3. 3ffxren

4. T

Correct Answer :-

. T

16) W& BT GHT T A 2| T§ IRIT & Sfaoft-gdl oR w fRud 8 T uradly 3R &3 s1e-o1e §ul &1
TS 21 39 DI A S/ I 9 YN | gieT o Aol 8- ST, Heaadt 3R gféroft & i & wew vefesat @
W FH & SR IrarTd & g 3 g7 §, SAfiT I8 IRT %1 U A & e $oft =18 g1 g
AT BIX-BIE TR-IY TH-gAY I AT 3N WA @ 81 37 TR-I4G! § & faRiv =7 I Iwe 3-
IR YR H HBGAT, HeAaad! U H <RSP, 3R gfaoft i & aeitmr | Sivsr $t aeyri gd=r §
9gd &l 9% Rifiy ASP-Aivplae a1 & reie-gd BT =55 3611 BT AAT) 41 g g A
FH-fa9 B ryayd Il &1 SR ARY gaiT| UTadt Waredt 397 yd A I8 AT 99 W ugd s &t uRadw
F UA-HTA B WA & sfagr &1 Wol-gan a1 Srar 31 ARG & 9 &7 3 811 & & avf ugd
BT = <SRBT TR MU H f&ar| drdiar $t aaurt weh fFandt wfdd § odwr aal |
qgd Wt 41 TIT A 27 I ab TE aTal BT HIaal fhar| 3 § ITD! WIoMd §5 | 39 W & a1 W
TfS®-qiplad e ¥ TART T Ugd 97 I6T1 404 $.9d T &1 Woa g8 N R 27 ST A F
fayufis g=ife o faRe® @) &1 9 g3 39 UPR Wl 7 U FarawT § (U I B WRIerg
faifteT 3 4t 39 i R efaeTiie wior &1 uHTE g1 WrHIfa® ATl

I TR B TSR 1 UD T Uy o1 37 Jarsd:

= - for zraredt & gE o IR 3 eryayd Sadt BT SR SRy g
1. G 1 o

2. B! Tarsd) ST gd



3. WU g g
4, Tfedl RrTed) $91 gd

Correct Answer :-

. T3l Ydlec) 391 d

17) W& P GHT T A 2| T§ IRIT & Sfaroft-gdl ok w fRua & T uradiy 3R &3 s1-oi dul &1
e 21 39 Bie A S/ I fIF YN | FieT oI Tobar 8- Susl, Heaadt 3R gféroft & i & wew vefsat @
W F SR Jrara F Y s gy 8, 39fiT a8 1 3% U e & fT Faft 18 < s
AT BIX-BIE TR-IY TH-gAY A AT 3N Wi I} 81 §7 7RI # i faRly v I Imwia 3-
IR YN H AHg-ar, Heaad! YT H <ARieT R gféoht um & e | siver 3t sy gd=r &
Tgd fal 7% QR fSw-aieplie Ia1 F mdie-ga 31 =-fowg 6 o3 Tari a1 7d gaH &
- F1 3ryayd I T SR ARY g3 | Ui IaTedt 01 gd | Ig I TR W ugd 18 8t vy
F UNE-HTA B WA & sfagr &1 Wol-gan a1 Srar 31 AN & I &7 3 811 & & aff ugd
BT 7 <SfRIPHr R MU H f&ar| dwitar $t Iyt wreh FHandt e § edwe aal @
9gd 3 41 TI=T A 27 IO ab TTED qTal BT HIaal fhar| o § ITD! WIorg g5 | 39 WIed & 916
Sifee-Tipfas =¥ F T T T8 I Q71 404 3.9d TAT &I WA g3 N R 27 5@ EAR &
fayuRrs aiffe o fAaR® Wl o1 94 gaMl 59 TSR Wel A Uit JarawiT § U+ 37 Pt WIorg B
it <@t 41 39 famas WR efeTiRies WwRTSTa &1 9HTa U1 WruIfa® ot

IUY T T B UGh -9 YD T U BT SO gaT5d:

U - fFa®T IRA-$1a T & 308 &7 Wul-gi AT J1ar @ 2
1. @el

2. ORI

3. 3K
4, ArpI=aT

Correct Answer :-

18) W& BT GH I A 3| T§ IRIT & faroft-gdl oR W fRua & T uradiy 3R &3 s1-oe dul &1
TYE 21 59 BIC A ¢ BI &9 YT | FieT o APl 8- Sut, Heaad! 3R gfarof | & A= & woa vgifsai @
W F SR IrarTa F Y s gy 8, 3afi a8 1 3% U e & i waft 8 < s
P BIE-BIE TRIST TH-gAX A T R W IR §1 37 TRI! | & Ry = & seaa-ia 3-
IR UTT A Thgi-ar, Agad Wi § <ifer o aféoft urr § areifar | <sifuer ot Iwur gd=wr §
9gd &1 9% Rifiy HSF-Aiplas 3971 & areid-gd o1 F=-fg 381 531 T 91 gd g A
FH-fa9 B Sryayd STl &1 SR MY gaim| uTradl Waredt 391 gd # g IAf 97 W ugg s &t ifadw
F UA-HTA D1 A & sfagr &1 Wol-gan urn Srar 31 AN & U9 &7 34 811 & & aff uga
ApI-ar 7 <3ffRPr W AmHHu FR G Awiar @t Ieurt e Fardt e § o= gl @
9gd 3 41 TA= A 27 IO ab TIE aTal BT HIaal fhar| o § ITD! W §5 | 39 WIed & a1 ff
SfSe-Tipiae e A TI T Hgd 941 T@T1 404 .94 T &1 Wog g5 At 3R 427 Syd A9 &
fayuRrg e o fAaR® Wl o1 97 gai| 39 TSR Wel A Uit JarawiT # 3uA I Ft wRIerg &
iy 3t At 9% fia R AfgTRIe WRTSra &1y TS TWruTfa® ATl

S TR B Ugh -9 U T Uy BT ITR gaT33:
U= - Wel &1 day food fawa 3



1. 3TMA
2. fax

3. JGUIA
4. YR

Correct Answer :-

19) F BT W1 T g 81 98 IRIY & Sfaoft-gdf 3R W Ry § & uradiu ok &3 sie-sie fiul @1
TUE 21 59 DI A ¢/ BI &9 YT | FieT o1 gHdT 8- Sust, Heaad! 3R gfaof | & A= & woa vgifsar @
W TN & SR IrarTd & g s g7 €, i a8 1 3% U A & e woft i e g
AP BIE-BIE TRIST TH-gAX A 3T 3R Wi @ ¢1 37 TRl & fiF faiv = & seaa-ia 3-
IR HRT H HAHGAT, ATt HRT H ARG 3R gfaoft yr § dreif-rar | <srRier ot Iy gd= 8
¥gd &l 9% Rifiy NSF-aiplas 3971 & reid-gd o1 =g 38| 531 AT} 91 gd g A
- o1 sryagd I T SR MY gaim| Ui Fraredt $a1 gd | g5 Iafd A W uga 18 &t IR
F UA-HTA B A & 3faer &1 Wol-ga a1 ST 31 IR F 9= &7 3 811 & & af ugd
ApI-ar 7 3ifer W AmHHu HR G dsiar @t Ieurt el Fardt wfd § o= gl @
9gd 3 A1 TA= A 27 I q T aTal BT HIaal far| o A ITD! W §5 | 39 WRIed & a1 ff
Sifee-aipfae =¥ F T T gga T Q71 404 3.9d AT &1 Wod g3 N R 27 5@ AR &
fayufts g=iffe ok faRe Wel &1 9 g3 59 USR Wel 7 Uit JarawT ¥ U+ 3= B WRTerg B
it 3t 4t ITe R WR efaeTRIe WRIera &1 yyTe usH1 WiyTfa® ATl

S T B Ugeh? -9 YD 7T Uy BT ITR ga133:

WA - UTadt Tared) $91 gd § TR0 91 {5 & Ft Safa Ry R uga 8 A
1. H-fa

2. TRI®

3. gl
4, fermad

Correct Answer :-

. JH-faH

20) e BT GH A T 81 T§ IRIY & Saoft-gdl ok = fRua 8 v uradiv 3R & B1e-o1e diul &1
TUE 21 39 Bl I S B 9 YA # SieT oI Joba 8- S, Aeaad! 3R &faroft & i € wreu verfeat @
R BN & R IrarTd & g s g7 €, i a8 @1 3% U AR & e waft Y e g
AT BIE-BIC TRI TH-gAY A AT 3R WA P 81 57 TR § & faiv ©7 I I@e 3-
IR UFT A AHGHar, Aeadt URT H AR o gfémft yr § areifar | <srRier ot Ty gd=r 8
9gd &l 9% Rifiy AfSP-Aivplas a1 & reie-gd BT =g 3871 ST AT} 91 gd g A
- F1 sryagd I T SR MY garm | urad Fraredt S gd # g5 Iafa w9 W uga s &t IR
F E-HTd BI WA & 3fag™ &1 Wol-ga U1 A1aT 31 ARG & 9T &7 3 811 & & av ugd
API-ar 7 <3ffRPr W AmHHu HR a1 Aeitar @t Jeurt e Fardt wfda & o=y a9
g M &1 YA 7 27 qul 9@ T ITal BT HTaar fHar| 3 H ITB! RIS §3 | 39 WIed & arg ot
Sifee-Tiepfae =¥ ¥ TP T ggQ@ I1 Q11 404 3.9d AT &1 oA g5 N iR 27 @@ AR &
fayufts g=ife o faRe® Wel &1 9 g3 59 UPR Wel 7 Ut JarawT § U+ I B WRTerg B
it 3t 4t ITe R wR efaeTRIe WIS &1 yuTe usHT WiyTfa® ATl



SUYFT TR BT UgH -1 IO T YY BT IR Id133:
WA - ‘G o1 faa grar 32
1. 9gTHq

2. gH
3. 3dd
4, fartq

Correct Answer :-

21) M BT gHRT T A 81 98 IRIU & Sfaof-gdf 3R R R 8 t& uradiu ok &% sie-sie §iul @1
e 21 59 DI A S/ BI i YT | FieT o1 APHdT 8- Sust, Heaad! 3R gfaof | & A= & woa veifsar @
W TN & R IraraTd & g s g7 €, i a8 @1 3% U AR & e waft i e g
AP BIE-BIE TRIST TH-gAY A 3T 3R Wi ) &1 37 TRl & 9 fakiv =7 & ey 3-
IR HFT H HAHGaT, eATdt HRT H ARG 3R gfaoft yr § areifrar | <srRier ot T gd= 8
9gd &l 9% Rifiy NSP-Aiplas a1 & reie-gd o1 =g 3811 ST AT} 91 gd g A
- F1 sryagd I T SR MY garm| Ui Fraredt $a1 gd ® g5 Iafa 9 W uga 18 &t IR
F ARHE-PTA B TAN $ 3fAeT BT WU-ZI AT A1aT 81 URTFAT & AR &1 3 g1 & af 99 uga
BT = <3RBT R AHHHU H AT dArdi-rar $t Iaurt wrer Fardt e § gd=r aal |
gd 3 A1 TA= 7 27 9UT aop T aTal BT gHraal fear| o A ITD! W §5 | 39 WRIed & a1g ff
difee-Tipfar =¥ ¥ TP T ggQ@ T Q11 404 3.9d TAT &1 WA g3 N R 27 5@ AR &
fayufts g=ife o faRe® Wl &1 9 g3 59 UPR Wel 7 Ut JarawT T U+ 3= B WRTerg &Y
it 3=t 4t STe R WR tfaeTRIe WIera &1 yyTe usHT WiyTfa® ol

IUYe TRIR Y USHR 19 IR 7Y UY o7 IR Id133:

U - WRTo/ & 91¢ WY TA=T &1 Ao fba TR F s e
1. MfG® Fuar

2.4 Hall

3. 9d-%G

4. GiHaT

Correct Answer :-

. fgH duar

22) CANCELLED

AT Hag Fevi A

et Iv OIRR gu Rga ug a5 3eg B Bt
T o Fefa 90 Ft A Sl § 8 @it \idt
FTed gd ¢a1ad g ARHE-IT Y At
Fral gy farafa iy ufy 3fa = wre= A
e FAYa 7HIE g gawR ot st

Tl A Bgd Aid B Agl g SGATT B9 STl
F71 B4 3R R & a1 Q- & AfE w4



g g Fed P4 & WA &1 § a1 ard

R H¢ SIS M  Fd WTH T4 |

Yepl ¢ & TaTd TaTad g9 99 GBIl

q HIE B ARA Wt grefE wag 7 G
e g@ R o1 3 ard srgafa g~ g~ 9
YAg B IAUS TGTS oFHd a1 DI Ydl

TR | Wi Mo o 3 & aar g yan

ST UL B UgH 1 YD T UY HT 36 Targd:

U - Wgd ufeaal § srae & qrar-faar 3 39w @ ier
1. Fife I8 dTelh a1 |

2. Hifdb STetah foih XgT AT

3. HIfdh qTefp SHT1Y UT|

4, 1T ITAD BT TIN5 |

Correct Answer :-

. i ITAB BT IR

23) A91 Hag g A

ot 9 MR gu g wg 98 oig g Bt
TN Fafd 90 o1 3+ S0l § & et A
Fled ed garad sig ATRH-I Y3 @t
Prat gy farafa fer uf Sfa =7 ara= A
Rer™ Py aaHE g gawR St &t

I |l Hgd AId DI divgl g SgHld Hd St il
FET B 38 RO & UR Qe g Afg omal

g g Fed S 8 AT B 8 R ardli

TR g SIIeT MR  Fd WRTd T |

Y1 ¢ ¢ T9Td TaTad §9d 9 GBI |l

T A @1 ARA Wl SefE wag 7 W
e g 1 91 3 a1 srgafa g g S
GE P TOHE TaTs oITHd 81 I Yd |

TR T W My &1 9 g Arar e

S UL B UgHhR 1 U T UY HT IR qa13d:
U= - 919% $I fhad gRT fawmar &1 381 32
1.al3

2. 9T

3. TSRt

4. fOareit

Correct Answer :-



24) 891 Hag deil dIdl|

et 3R wifg gu fraa vs g ST 8 Bt
TS wefa 9a $ 3 w0 § | @it @i
Fled gd garad sig AE- 43 @t
Fral gy farafa ufy ofr Sfa = ara= A
GRE™ FAYaT aaE g gawR 3t St

1 | Hgd HId B divgl g SIgHfd Hd St il
Fel Bl sfe R & A @e= g afg sl

g gf Hga $I9 & AT H1 g R Al

TR = SAIeT MY  Fd WTH T |

Y1 & ¢ TaTd TaTad §9d 9a GYHIa |l
IS B AR Wt gr3fE wag 7 Wi
Ae g@ ¥ $1 3 a1d srgata g g dh
GAg BT TAHE TaTS SI1Hd o1 DI Y|

TR T W e &1 9 g arar e

IUYed UL &1 Ugh ) YD T UY BT IR 9133
U - ST 5d PRI A JaA T8l o1 38T 82

1. I gU YT B

2. 3 3 FTAH W T & W T

3. 39 e A R g & gl

4. 39 U fed T B

Correct Answer :-

- R IRI @ B

25) A91 Hag Tt A

et ar ifg gu fraa vs gz g @ Bt
TS wefa 9a @t 3+ i § @ et "
Fed ed garad Sig ATRH-I Y3 it
Fral gy farafa ufy ofr gfar = wre= A
e FArya g sk gaeR S st

T | Hgd AId DI divgl g Sgdfd Hd St il
FET B 38 T S TR Qo gl Afg oa|

g g Hga $I9 & AT B g R Al

TR ¢ eI MY J $d TR T |

Yool  § TaTd Turad §9d 9a ggPId |l

T A @1 ARA Wl gefE wag 7 g
e g v o1 3 ard srgafa g g 9
g P AU TGTS I-THd &1 DI Y|

TR T Wi My &1 9 gt Arar L ga i

ST TS P UgHR A UD W U PT IR qaA133:

WA - YT Pt UfRT <HIaT D1 § ORI a1 | a1 &1 3 gian g2
1.7d

2. foar

3. dldd



4,

Correct Answer :-

26) A91 Hag Feit At |

et ar Hifg gu fraa vs gz g @ Bt
TS wefa 9a @t 31 i § @ aidt "
FTed ed garad Sig ATRH-I Yg it
wral gy farafa ufy ofr gfar = wre= A
e FArya g s gaeR S st

T | Hgd HId DI divgl g Sgdfd Hd St il
FET B 38 R &S UR Qo g Afg oal

g g Hga HI9 & AT B g R Al

TR =g SreT MY F Fd WTHd T |

Yool ¢ TaTd Turad §9d 9a ggPId |l

T HIG ot AR At grefE Hag 7 Wit
e g v o1 3 ard srgafa g g 9
g P AU TGTS I-THd &1 DI Y|

TR [T Hifg Mo &t I & arar ua i

ST TS P UgHR A UD W U PT IR qa133:
U= - Ui § TaTdl 9Ta® fhg YR A= 38 82

1. DI ADR

2. qEdNY

3. AR
4. TR

Correct Answer :-

. FH IR

27) BT Hag Feiit AT

et aR wifg gu fraa vs g seTg g Bt
TS wefa 9 @ 3 w01 § | et 7
Fled ad garad Sig AHE- Y @t
Frat gy farafa fe uf Sfa =7 ara= A
GRE™ FAYas A=IE gl gawR 3t Sl

I | Hgd HId B divgl g SIgHld Hd St il
FeT Bl gfe N & A @a g Afg sl

g gfy Fgd B4 8 AT 31 8 R 9l

TR =i SRAeT MY  Fd WTHd M|

Yool ¢ & e Tarad §9d 99 gl
I Bt AR et grefE wag 7 Wi
e g@ ¥ &1 3 ard sgafa g g S
g BT qAUE T9Ts oI 81 DI Yd|

TR T W My &1 | g arar e



IUYF U D1 UGHR A1 I T UY BT IR Ta134:
R - Uit A SmfY «oig ATt Y aidt A <y w1 ard @2

28) HUT Hag Feiil Alet |

fordt av MR g g wg 98 g g Bt
TS wefa 9 $ 3 w0 § @ et @i
Fled g garad sig AH- 43 @t
Fral gu farafa ufy afr Sfa = aram A
Gre™ FAyas aaE gt gawR &t St

1 I Hgd HId P divgl 9 SIgHfd Hd St il
P81 B 3fe R F uR G 8 Afg el

g gf Hgd HI9 & AT H1 g R Al

MR g SIeT MRT § Hd WTHd Td |

YD1 & ¢ TaTd Tarad §9d 98 GYBIa |l
TS Bt AR Wt TrefE Hag T AR
He g@ ¥ o1 3 a1d sgata g g 8
GAg ST TS TaTs oI19d 81 D Y|

TR T W Mu= &1 & g Arar e

IUYed TEIi &1 Ugh? ) YD T U BT IR 9133
U= - 9 e gedt A-d B [l gId 82

1L UHIR

2. QUTUH R

3. 9T R

4. QYU

Correct Answer :-
o« WHITWR

29) 491 Hag Tt A |

et a7 AR o fraa wg gg eeig g B
TS wefa 9a @t a1 i § @ aidt "
FTed ed garad sig ATRH-I Y3 it
Fral gy farafa ufy ofr gfar = wre= A
e FArya g s gaeR S st



1 i wgd did I gl  STHAT Hd At
HeT 3 318 R & AR @ g Afg wa |

g gf Hga HI9 & AT B g R Al

TR =g SAGT MY  Fd WTHd T |

el ¢ ¢ TqTd Ta1ad §9d 9 GBI |l

T A @1 AR Wt SefE wag 7 W
e+ g@ fra &1 3 ard sgafa g g S
GE P TOHE TaTs oA 81 I Yd|

TR T W My &1 9 g arar @i

S UL Y UgHR 1 U T UY HT IR qa13:
T - ‘FeerS @1 Aol Hait 22

1. HTa 3R AT

2. de SR A

3. Tt 3R el

4. TS SR

Correct Answer :-
. ol iR "It

30) BT Hag Feil AT

fordt 9T MR g g wg g% g g Bt
o pefa ga I 3 vl § g @it @i
Fed gd gardd Sig ATRH-I Y3 it
Pt gy farafa ufy ufa a7 ara= A
e FArYyad uaie s gawR S et

) b Hgd WA P gl  SgAfd FI AR
FeT B 3fe RO F UR Qe o) Afg el
gy g Fgd P4 € AT B @ aRY ardli

TR =g SRAIeT M F Hd WTH T |

Y1 & & TaTe A §9d 99 gYhd i
TS B aRA Wt TrSfE Hag T TR
e+ g@ ¥ @1 3 a1d sgata g g 82
FAE P TAYS TGTS -9 d o1 DI Y|

TR T Hifg Mo @) 6 g arar g e

ST U= $ UgHhR A2 U 7T UY T 30 I133:

WA - HTAT A ST $1 g 911 IR 1§19 &7 Sy foam un?
1. A ggd BT

2. |aTs gg &I

3. JM g BT

4. gl 9GP

Correct Answer :-



Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “gard” (g&tyw) sftaf & omu Far ause 82
1. It does not need oxygen to survive. /3@ Siifad qg%[ & ﬁm RIS Bt AT R qﬁ@?ﬁl

2. It is able to tolerate a wide range of altitude. / I8 3 T8 & Uh %ﬂ el DI TgT IR |
W BT g |

3. It is able to tolerate a wide range of PH value. / g PH HI1 G| ﬁﬂﬂ?ﬂ'ﬁl’[ P Ugd P H T
g 8!

4, It is able to tolerate a wide range of ambient temperatures. / g ufa=ft aruErl ot Udh ﬁﬂﬁ
ST Y TG B T T&H BT B

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / Ug gRa=N doHE! Bt Udh ﬁﬂﬁ
ST Y Te bR & Gerd gl B

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.
3. Denial of efficacy of rituals.
fFrafafed & 8 o9 ais v ok 9 o+ g & forg = ar?
1. TR SR HRT B TA W1 & F2+=1
2. 951 & fUHR & gl Igrft=ar
3.3l B UGS & $ABR
1. 1 only/ $ad 1

2.1and2/1Td 2
3.2 only / Hdd 2
4.1,2and3/1,2Td 3

Correct Answer :-

« 1,2and3/1,2Td 3

3) The position if the sun, the earth, and the moon are in straight line is called: / g, gt 3k
o o1 A Ta ¥ g1 W AT 31 w1 wran 3:

1. Cliff / foaw

2. Conjunction / gi%l



3. Seiche / STATG I+ g d(
4, Syzygy/gﬁlﬁgﬁfﬁg )IilG.lslal(

Correct Answer :-

. Syzygy / Gfafagfa fog Rl

4) The celebrated monarch known by the epithet “Devanamapiya Piyadaasi” was: /URIS I9Te
N Iy “Sa=w g fre=dt” - @ 9+ oird A:

1. Kanishka / H1%h

2. Ashoka / 3R0

3. Chandragupta Vikramaditya / TGt fawifea
4. Akbar / 3P dX

Correct Answer :-

o Ashoka/ 3IMb

5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? | TSP BT
R BT 3R IR HURA & o W fawga o1 3k 391 S Iwurf=at ot
RTAT Bt 2ft, o0 S v B gougRT| gost Fi 3 i

1. Taxila / F&ffRIT
2. Mathura / HYXT

3. Pataliputra / EITEEﬁEH

4. Sakala / DTl

Correct Answer :-

+ Mathura / HYT

6) Under which dynasty, earliest inscriptional information on land grants is

provged?/mm%m,@mwmuwmmmaﬁ
STl 82

1. The Mauryas / arf
2. The Satavahanas / lddle
3. The Sakas / /[

4. The Guptas / [t



Correct Answer :-

o The Satavahanas / dlddlgd

7) The Minimum Support Price was introduced in India in the year ./ gAdH

T geu URa § aF o o= forar T ATl
1. 1964
2. 1984
3.1974

4. 1954

Correct Answer :-

« 1964

8) What is a favourable balance of trade? / HTUR &1 T AJPd Ao T 22
1. Exports equals imports / fyafa smard & SReR §

2. Exports must be greater than imports / faia smara ¥ sifdre Eﬁef ET%E

3. Increase quotas / PicT EALY

4, Imports must be greater than exports / fraia & NG T 3aTd 3% g Bl

Correct Answer :-

« Exports must be greater than imports / fata smara ¥ sifdre RN

9) aimed at providing credit or loan and other facilities to the small and marginal
farmers, agricultural labourers, artisans and small entrepreneurs in rural areas. /

BT 369 UTHior &1 B SR i frami, Y uorgRl, FRITRI iR Bic Iufaal 3t
U1 YT BT 3R 3T JRIUTT UG HAT 8|

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgIHT Tieft QT@H P
ISR TR HfAFTH (F9m)

2. Prime Minister Rural Development Fellows Scheme / AT TrHtor fae T Bat dier
3. The Rural area Regulatory Board / T &7 fame &8
4. The Regional Rural Banks / aftg urtr §

Correct Answer :-

+ The Regional Rural Banks / aftg urir 8



10) What type of stream pattern develops on a dome type area? / fd UPR HT 3(qarg Je-

Taq & UPR & &7 & faefia grar 82
1. Radial / 3R (Af&Ta)

2. Parallel / HMIR

3. Dendritic / GHIPIID (JETHR)

4. Trellis / SITIHT

Correct Answer :-

. Radial / 3R1T }f&Tq)

11) In which river valley hominid fossil has been discovered in India? / HRd o fg =t

°rdl # giftifers ey ot @ie o1 715 82
1. None of these / 318 § PIg g}

2. Ganges / T

3. Indus / &Y

4. Narmada / THaT

Correct Answer :-

« Narmada / '_ﬂ:fa-[

12) Who reviews the distribution of revenues between the State and Local Governments on
the one hand and between rural and urban Local Governments on the other? / Td 3R Isg
IR T ORI & d1 3R gadt R urfior 3R 2edt R IRERI & di9 Ierg
& faavor &Y weiten o9 ST 82

1. District Finance Commission / ToTaT faT 3mamT
2. Union Finance Commission / W o emarT
3. State Finance Commission / I1od fod 3TANT

4. Zilla Parishad / forem afteg

Correct Answer :-

. State Finance Commission / Jg fad 3TIRT

13) Who is the head of the Indian Republic? / R O & yq9 D E?

1. President / ?qu'ﬁ



2. Prime Minister / GHUTTHA]

3. Parliament / 9G
4. Judiciary / <TUTfeIepT

Correct Answer :-

o President/ Tl'gqﬁf

14) Who is the author of “Deschooling Society”? / gt ?T%FT @'\‘I’I’ﬁ'ﬁﬂ" & AGD P %:?
1. John Locke / SIIF dlldh

2. Jacques Rousseau / g 91

3. Jean Piaget / ST oSt

4. Ivan Illich / SaM 3o

Correct Answer :-

« Ivan Ilich / 3T Sferd

15) Who said that, “Non-alignment is more or less a residue of historical circumstances, we
cannot align ourselves with the West, with its colonialism, and there is no question of course

of joining the Soviet bloc”. / o we1 {5, “ﬂ?ﬁ?&&ﬁﬂ, Wmﬁﬁﬂmmaﬂ
SfYF IT FH 3GV §, TH W4 B! IUfAREIG aral Ui & 91y Sis 8! g, 3R
ifaad e # e g1 &1 His Jara g A8 817

1. Nehru / TBE
2. Krishna Menon / W[ BEEC|
3. Tito / f&21

4. Nkrumah / <0 HIg

Correct Answer :-

+ Krishna Menon / W[ BEEE|

16) Who is the overall in charge of the efficient and fair conduct of elections in the

concerned constituency? / Haferd IBCIEEEEK: ﬂT'I'Ia-T & PIAA 3R Froaes Tame & 9ug
U B 82

1. Polling officers / AAGM SHEYDHRI
2. Returning Officer / fafem (Refm) sifder
3. Presiding officers / USRI BRI



4. Visiting / 3T
Correct Answer :-

+ Returning Officer / fatem (RefHim) sifder

17) Who was known as “Hazar Dinari”? / "9k ﬁ:ﬂ'\&" * >y i | ﬁ? SIS IGR
1. Balban / dcdd-d

2. Razia / IO/

3. Mallik Kafur / FfcTeh STHR

4. ltutmish / Sec oI

Correct Answer :-

. Mallik Kafur / Afcieh HTHR

18) Finding the relation between “altitude” and “temperature” with the help of given

examples happens in which approach? / feu e IerERUN Fl Heg | "wﬁ'lg" 3R
"ATIHT" & S HEY BT UdT ST 59 SURTH A a1 8: -

1. Concentric / Hbigd
2. Chronological / m

3. Inductive / SFTHATHD
4. Deductive / ﬁ?ﬁm

Correct Answer :-

o Inductive / ANTHATHD

19) In a Parliamentary form of executive it is essential that the Prime Minister has the

support of the majority in ./ Gad GautaItaui ks Yg 3TdRgh % & ey &t
IgUd BT 99dT HEl

1. Rajya Sabha / XISIHHI

2. Parliament / IG

3. Lok Sabha / ThIHT

4. Vidhan Sabha / faeaT1

Correct Answer :-

« Lok Sabha / Sl YT



20) Receiving, responding, valuing, organizing and characterizing are the levels of which of

the following domain? / UTGd ST, UTAfShaT &A1, AT BT, SAAIRId BT 3R quiF
PIATSY S P TR 8-

1. Affective / HIdIHD

2. Revised Taxonomy / N AT
3. Psychomotor / H-: IR®

4. Cognitive / IITATHD

Correct Answer :-

o Affective / HIATHD

21) During the Mughal rule which of the following traders came to India first? / Tl RMAA

& SR FufifEd § ¥ &9 91 TR ugs YR 31T 412
1. English / 3{USit
2. Danish/%ﬁ’sﬂ

3. Dutch / €9

4. Portuguese / H?f"ﬂ?ﬂ

Correct Answer :-

« Portuguese / Q_,_rf’Tl?ﬁ

22) is a system of government in which the power is divided between a central
authority and various constituent units of the country. / PR DI TH YUrrat ?
forad | 3t T Fa wifieor ok o1 3t fafta ges sorgal & dia fawifom faan
ST g |

1. Decentralization / [ddp =BT
2. Centralization / h&IHRUI

3. Federalism / 99dIg

4. Democracy / SFIdd

Correct Answer :-

« Federalism / §9dIg



is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. /

fored 3=1 wR & fafia oY axgail & Wi, veror, ulvag, ﬁ%ﬁmaﬁ'\rﬁw
A § &

1. Rural development / PICIUACEIRS]

2. Rural marketing / PICIUACEE]

3. Agricultural marketing / w fauoE

4, Agricultural networking / w FeafdT

Correct Answer :-

« Agricultural marketing / ?ﬁf fauu=

24) The Planning Commission was set up in ./ TSI START BT RITYAT A
Ak ERi ]

1. 1960
2.1940
3.1950
4. 1945

Correct Answer :-

« 1950

25) The evidence of pit dwellings have been discovered from which of the following Ancient

Indian sites? / FrEfIfEa &  f5 uritq YR wet @ Tafart & ywmor @t @i gs 82
1. Lothal / SIS

2. Burzahom / §oigId

3. Ropar / TS

4. Kalibangan / TGS

Correct Answer :-

o Burzahom / Wﬂ

26) The most prominent challenge faced by a social science teacher is: / CICIEED ﬁ?ﬂq

e & @ Fa U@ gHId] gl o
1. Inadequacy of text book and handbooks / UG Y& 3R m&ﬁ D1 oAt



2. Inadequacy of in-service training programs / T Tei HIRI&UT BIshHl i YT
3. Lack of proper evaluation tools and techniques / 3ferd J-Ll\cqidvﬂ YD 3R TH-1eh] T T

4, Insufficient time to attain long-term objectives / EAINED 3%@3] f P TG & forg oAt
JHg

Correct Answer :-

« Insufficient time to attain long-term objectives / AREINED G%Qﬁ f 1 o1 & fa ST

27) The most suitable approach to promote interactive environment in social science class is:

/wmﬁ%ﬁﬁm&nﬁwmuﬁﬁmaﬁméﬁ%mmm
S A

1. Frequent testing / e TR1efor

2. Showing documentation / XA I

3. Lecture and explanation / SqTRSHTT GﬁT FT@WUT
4. Cooperative learning / Te®RI HfETH

Correct Answer :-

« Cooperative learning / GEPHRI HfETH

28) The method of inquiry-based learning which gives students time and support, they can
pose original question and investigate through their own methods is known as: / SIid-

renfe ftATH &Y ugfa ot S @) g ok Tud UgH wdl 8, oA 3 qa vy &1
3T YHSHR I9Y P d3P] & HIHHH A S B 8, Bl 4 & 9§ JE1 9171 8

1. Structured inquiry / B NEGEIE]

2. Conformation inquiry / faequr Sitg
3. Guided inquiry / ARa S

4. Open inquiry / Ej_fﬁ Sidc

Correct Answer :-

« Open inquiry / 'Eifﬁ S

29) The Village and Small Scale Industries-Committee are also known as L UH

3R @Y SA-Affa &) U Mo ST gl
1. Desai Committee / éﬂTs‘ gfafa
2. Krishnan Committee / Wﬂﬁlﬁ



3. Karve Committee / B1d GTHId
4. Rao Committee / 19 FIATA

Correct Answer :-

« Karve Committee / Wﬁﬂ'&lﬁf

30) The method that does not help to develop critical thinking skills among the students is: /

T faftr =it o & o vyl 9o Pl ReRa s A aeg Adi sy, ®1
1. Rote learning / $3 fafey siferm

2. Project based learning / OIS STt SffRTy

3. Collaborative learning / ﬂ_@h"TlIUf 3Ty

4. Self-regulated learning / ¥a-faf~afHd fferTH

Correct Answer :-

« Rote learning / 3R fafey s{fermH

31) The demerit of problem solving method is: / THXT fraror fafer o1 SIQIUT S

1. It is purely individualistic in nature. / g Wﬁ[ | ﬁ’-‘ﬂ?&r *UY a?lm % |
2. It brings affective changes. / g HhRTHD PIRCRERNIG]] % I

3. It does not help in easy assimilation of knowledge. / dg 4 DI AT STHIATT H- H AGq
EHEGIE]

4. Tt does not develop power for critical thinking. / dg g i & o erman fawRid =81 wxar
gl

Correct Answer :-

o It is purely individualistic in nature. / g Wﬁ[ | ﬁ’-‘{l@ Uy EEIW % |

32) The Government can present demands in the middle of the financial year if
it feels that more money is required than estimated in the annual budget. / GYPR foirg atf
A 3 1T (F$HUS) URgd HR ol ¢ afe 3/ TIaT 8 b arfife sore #
A & 3P ¢ B SaaDar gl

1. Complementary / Y
2. Need — based / STARIH -
3. Mid — term / AELATA(Y

4. Supplementary demands / SJYIh



Correct Answer :-

« Supplementary demands / 3{JYIh

33) Which one of the following is not the nature of social science? /Fafafea g wN

AT g Y vl et 22

1. Study of man’s development through ages /?ﬁ | HI™ & [aH™ BT 3T

2. Study of human relationship / HI1d el T 3{egg
3. Unrealistic course of study / &I b Sryrfarel ursashH
4. A unique combination of various subjects / fafir fowt &1 U 3{JoT TS

Correct Answer :-

« Unrealistic course of study / & D[ SyTdare! areashH

34) Which one of the following is measured through CCE? Frafafea 3 9 f5a ?ﬂ?ﬂ'ﬁc &
HIEHH | /YT o1 32

1. Physical and motor development of students only / HId BHEI BT AR R ARG
faere |

2. Scholastic and co-scholastic achievement / Had @TE@ 3ﬁ? ﬂg—m RUNIE]

3. Co-curricular achievement only / Had Je-UlagdshH 3Ud fR|
4. Gradients of scholastic achievement only / $ad Qe IuAf & JdR-deld|

Correct Answer :-

« Scholastic and co-scholastic achievement / %a m 3?[? %ﬂﬁf&@ RUNIE]

35) Which schedule of the Constitution prescribes a list of 18 functions to be performed by

the urban local bodies? / SfIUT B fordy gt A <1t R froral gRT fHg o
T 18 H1aT 1 it e @ s 82

1. 12t/ 129t
2. 9t/ odff

3. 10t / 104t
4. 11t 7 11f

Correct Answer :-

. 12t/ 12gf



36) Which is the most suitable philosophical approach that is capable of inculcating absolute
values among students through the teaching of social studies? / dg Capk:|

SUgEd
SRIf® SRS 8 SN ATHITS Serd=T & RI&v7 & ATead | B & atd Tyl Ted| &)
fawRra o= A aem 82

1. Realistic approach / gYTiare! EfpemIum

2. Idealistic approach / 3TERIaTdl e Bdiur
3. Naturalistic approach / Wﬁﬁﬂa EHREIW
4. Pragmatic approach / CICHIRED %’@ﬁw

Correct Answer :-

« Idealistic approach / 3fTerfarel DI

37) Which is the Lightest layer of the earth? / qzaﬁ CAR: R | Bﬁﬂ Rd B At %?

1. Lower Mantle / =T (UTGR yHed

2. Upper Mantle / $UR] (VAR ) Hed

3. Crust/ Y TS (YUed)
4. Core / IS

Correct Answer :-

. Crust/ Y U<t (Yued)

38) Which of the following methods is capable of enhancing psycho-motor abilities of

students? / FraffEa & @ #19  f3fy o= &Y 7990 goarsi S sgm A e 7
1. Simulated method / Tﬁ’q fafdr
2. Work experience method / Eap S{JHd fafer

3. Lecture method / SOTAT fafdy
4. Demonstration method / EIESZ'&T fafy

Correct Answer :-

« Work experience method / Eap S{JHd fafer

39) Which of the following is not the educational objective in the teaching of social studies? /

Frafafaa o @ w19 g sreraa & Rigor d Afére sexa T8 82
1. Preservation of democracy as a value system / Hed YUITcHl o U H dldbad BT TR0



2. Creating and maintaining democratic citizenship / Al ditze ARTRG T BT AT HIAT 3R
I BRIH G

3. Conquering the territorial jurisdiction of neighboring countries / qﬁ =N & PR &F R
[EEERISERE]

4. Peaceful co-existence of people in this earth / g8 q%ﬂ TR A &1 Wﬂ—é-&ﬁ?‘lﬁ

Correct Answer :-

« Conquering the territorial jurisdiction of neighboring countries / q@ﬁ?ﬁ <=M & HUBR &F W)
oo T BT

40) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

frafafea ¥ 3 f5d yoR 3t Sy @1 URa d g3 @it & 90 9 o =1 ST 82
1. Primitive substance agriculture / 3fT[GH q?ﬂ?—fﬁ
2. Extensive substance agriculture / U gard w

3. Extensive commercial grain cultivation / ST ATUIoI® TS &I Wall
4. Mixed farming / THf%d @it

Correct Answer :-

« Primitive substance agriculture / 3TTGH W’jw

41) Which of the following dynasty was ruling in India, when Alexander invaded India? /
frafafEa & 9 @19 |1 Iea YR § AR S 36T AT, T9 e A YR UR SIhHvT
foar?

1. Nanda dynasty / BEGEl

2. Shunga dynasty / QI‘T Rl
3. Gupta dynasty / [t CRll

4. Mauryan dynasty / ard gur

Correct Answer :-

« Nanda dynasty / ¢ 921

42) Which is recognised as one of the first environmental movements in the country? / foa

<3 H Ugd yafaRuity sigia-l # & TH & ¥U | JI=dl T g2
1. Chipko Movement / Rrge! stiqra

2. Kisan Movement / fopgm™ 31](‘?IQ'H




3. Lok Satta Movement / QI 31]C:IQ'1'1

4. Narmada Bachao Aandolan / THET SAT3{T 3T

Correct Answer :-

« Chipko Movement / Iqa! 3ffqle

43) Which among the following is not a scoring tool to evaluate the quality of students? /

B B I HT i v & forg Frafafed & @ S 91 @I Susor 81 @2
1. Rubrics / i

2. Observation / 3fdcilid=T

3. Checklist / AHIeRE

4. Rating scale / JedTe JHMT

Correct Answer :-

o Observation / MG RICE

44) Which among the following is one of the first commercial banks established in India? /

Frafafea & @ o9 91 yRa § wifta yyw aitifre dei A4 e o2
1. State Bank of India / HRdg W< &

2. Bank of Hindustan / §& 3{1th %WF‘T

3. Bank of India / % 3H 3'%73”

4. Central Bank of India / @l?,f[ % 3B _ar%tﬂ

Correct Answer :-

« Bank of Hindustan / S 3{1t %WF‘T

45) Which one is not a characteristic of summative evaluation? / ﬁ'H ﬁ ﬁ ﬁ? Tﬁ"TI?FIﬂ;

qedie 1 U faRwar 181 82

1. It is done on a continuum/%ﬁ@W% WWWWW%I
2. Knowledge of results is not possible / 13|ﬁ'UT|'1:|3f D[ AT JYq '_‘|€f %l
3. It is used for promotion / $THT IYTNT Had YR & forg far Srar B
4. It is having a judgmental attitude / I8 U 3TAETHD I3TT T & |

Correct Answer :-

« Knowledge of results is not possible / GIRUTA] T I IHT Tal %’ I



46) How many Tirthankaras are in Jainism? / 3 9 § fda didew A2
1.24

2.4

3.34

4.14

Correct Answer :-

. 24

47) Who were Manu, Narada and Brihaspati? / ], TR Gﬁ?mﬁ? U7
1. Mathematicians of ancient India. / U HRd & Wﬁlﬂ?ﬂ

2. Jain scholars. / S fagH|

3. Gods of Vedic religion. / afess e & aan

4, Law givers of ancient India /Eﬂ?ﬁ:f HRd & UFPR|

Correct Answer :-

« Law givers of ancient India /EI'IEﬂ:T YR & YFBR |

48) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

. | T 3N P Hifge 1S & g geg & SHgger @1 T W ot G|
STt 8

1. Depreciation / HedgRI

2. Revaluation / W

3. Re-evaluation / G:- W
4. Devaluation / 3{dHcI

Correct Answer :-

+ Devaluation / S{dHc-

49) National Rural Health Mission in India was launched on ./ “-maﬁ'wg’rq
yTHior WA = ot o 3= o T Tl

1. April 2010 / 30, 2010

2. April 2008 / 370id, 2008



3. April 2006 / 3/0d, 2006

4. April 2005 / 3d, 2005

Correct Answer :-

« April 2005 / 3fUd, 2005

50) Which economic system shows both the characteristic features of capitalist and
socialist system? / @19 I} 3nfdfe yurelt geiiardt si quTeTard! womeht @1 g fafkry fa=iwarsi
@) gt 32

1. Planned economic system / fafora smfdfes gomen
2. Command economic system / e TR anfifes gomelt
3. Market economic system / STSIIR 3ffes gomeht

4. Mixed economic system / oS smfdfe vomeft

Correct Answer :-

« Mixed economic system / fH3d 3(ffes womett
51) CANCELLED

Who among the following are not the women Presidents of Indian National Congress? /

Frafafad & 4 o1 yRdia Tt St 91 afgar srae T8 9
1. Kamala Devi Chattopadhyaya / CRNIEE]] a@'qT‘EZITq

2. Aruna Asaf Ali / 35U 3 et

3. Annie Besant / Q:ﬁ a@_c’

4. Sarojini Naidu / RIS a1ag

Correct Answer :-

« Kamala Devi Chattopadhyaya / HAATGdl ag' qreArg

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi

(Chirag of Delhi)’? / RI=d a1 & fhq URIE Gwt ¥d &t “RRIT-T-dgadt (et &1
foRTT)” & AW | SIET ST 12

1. Abu Ahmad Chisti / 3¢ 3/gHq fa=a
2. Shaikh Nasiruddin Mahmud / ]G &4 A89a

3. Qutbuddin Bakhtiyar Kaki / el SR&IIR BHIh]

4. Nizamuddin Auliya / FoTE Sfiferan



Correct Answer :-

« Shaikh Nasiruddin Mahmud / [g e HgH4g

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / foa

UMD A CIURT 3R ARG | 3 WYl &Y 75 feeett # wiiafyd fear
1. Balban / dcfdq
2. Muhammad Bin Tuglaq / Wﬁqw

3. Giyasuddin Tughlaq / FTATRIE el
4. Firoz Shah Tughlaq / EREEIN [N

Correct Answer :-

« Firoz Shah Tughlaq / RIS 218 UNED

54) Kavi Vatsal was a title assumed by which Satavahana king? / “Hfd TIA” TP BILED
fope HTdaTE= IS gRT Bieud ur?

1. Yajna sri satkarni / 31 off Fpuff

2. Vasisthaputra Pulumavi / aﬁmﬁ w
3. Hala / &Tddl

4. Gautamiputra Satkani / Tﬁﬂ'ﬁﬂgﬁ o uff

Correct Answer :-

o Hala/@&ldl

55) International Network of Bamboo & Rattan (INBAR) is located at? / 9 R dd BT

SieRTg Yead (TR, i 7R R 27
1. Colombo / PIcial

2. Guwahati / W

3. Beijing / SIS

4, Dhaka / Il

Correct Answer :-

. Beijing / SIS



Which of the following strait separates USA & Russia? / fFafafed & 9 o1 3t
et SARDT 3R 1 P 3T Bl 52

1. Bering Strait / ST STerifY

2. Semiostrovskiy Reid / ﬁéﬁ@a‘aﬁ e
3. Fram Strait / ToTH STQE{Y

4. M’Clure Strait / UH deyX ST

Correct Answer :-

 Bering Strait / CIRURS IR

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect
on the environment by the indiscriminate use of the pesticides. Who is the author of this

book? / ‘ATSdE BT, 1962 T UHTRIA TP HgeYUl [ g | ST BICARIDI & ALy
ST | YGTaR0l IR USH a1dl Ufdgd U1 & aR ¥ forar 81 39 [Ra® & a@® DI 62

1. Annie Dillard / q'_'ﬁ %aTé

2. Virginia Arthur / goift=ar MR
3. Kathryn Miles / FUH HIT®
4. Rachel Carson / JTRId &I

Correct Answer :-

« Rachel Carson / A W

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? /

Frafafea & @ fw T 3 yRa siarey 3 Sae s e?
1. West Bengal / Uiy ST

2. Tripura / ﬁERT

3. Meghalaya / RG]

4. Nagaland / EIUISES

Correct Answer :-

+ Tripura / ﬁERT

59) Anemometer is used to measure which of the following. / g d A PR A &
fere eitwiier &1 SuahT fosar Sirar 21

1. Wind Velocity / Ud- T



2. Wind Direction / Ua+T &1 f&=m
3. Humidity / TS
4. Air Pressure / dIg qId

Correct Answer :-

« Wind Velocity / Yd- T

60) Falkland Island is a disputed territory between? / Birds §u fFas a4 U faarfea
PERH

1. West Indies and Spain / al%d'{;snl\fl 3R WA

2. Uruguay and France / 3513 3R BT
3. Chile and Ecuador / freft 3R m
4. Argentina and UK / SIS 3R @

Correct Answer :-

+ Argentina and UK / SIS 3R @



